
LECTURE 15

Plans 1) LINEAR Programming

1) DUALITY

2) ZERO SUM GAMES
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ROCK PAPER SCISSOR
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STRATEGIES :

PURE STRATEGY Player picke a particular now

or column

MIXED STRATEGY : Player picks a probability distribution

over rows/columns
En : Prfrow = ] = 1

,
Prfrow =2) = 12

PayOFF : Expected payoff of the player



GAME A :2
-

* ROW PLAYER ANNOUNCES ↑ 20 - 30
↑

a mixedetrategy -

-

2 no 0
* COLUMN PLAYER RESPONDS

with a mixed strategTo

Example : Row player : Prow = 1) = "pPrlvow :2)=
Column player : Pr(c = 1 = 2/3 Pr(c = 2) = 1/3

Expected Payoff
=> A[I , 1) . (104) + A(p ,2) . (44 =%)

* A(2 , 1) · (3/p : 4) + A(2 , 2) · (34-43)



GAME A : : GAMEB
-

* Row player plays 1
* COLUMN PLAYER playe

mixed strategy P-
mined strategy

21-30 * ROW PLAYER responds↑ COLUMN PLAYER responds
=

mixed strategi g I mixed strategy P
&

If p = (Pape) q = (9 , 192)

EXPECTED ESP,]EPigAliD + Pr9AG2) APq ,
AE]

P .%2. Al ,2).

VALUE OFGAME A B

I Min MauCE(p ,9]Mar Nin E(p,] ] P

(LP) (LP *)



* LP & LP
*
are dual of each other.

By strong duality
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